Chapter 1B Quiz Review

For the following sequences decide whether they are arithmetic. If yes, then find the common difference, the
first term and the next 2 terms in the sequence.

1. 3,15,27,39... 2.10,15,22.5... 3.19,13,7,1... L
&25 0= o +12 NL Y. 0, =14
rite

the recursive and explicit formulas for each sequence.

RT: 5 n=) RF: 29 n=)
‘ 4. 5,9,13,17... = 5. 25,18,11,4... on™ _ -3 N>\
 EFln=ts o e CF: anzzﬁo—‘\(nﬂ

6. Find the 25t term for #4

Oz6 = 1+1(28) =01}

7. Find q,, for #5

Og =25-10G8-D) = l“'\D\ \!

Evaluate
9
W 8. 87+80+73+...+10 9.8 terms, a, =2 & a, =74 10. > (1+3n)
n=1
6
,\)QO%/ 11. ~10-18-26...—a,, 12. 3 (5(n-1)-2)
n=l1

13. Cubes are stacked in the shape of a pyramid. The top row has 1 cube, the second row has 3, and the third

row has 5. B 2
a. Write an explicit formula for the situation. O\ = \+2(n -\) Ok (n= - \ 2

b. How many cubes would be in the 10" row? Oy = — | +2.(\0) ‘-‘-l\q cune s \

c. How many total cubes were used to make the pyramid if there are 12 rows?
O =—\+202)=23 > § = \2(1+23)
14.1f S, =—768 & a,=8 & a, =—104, solve for n. \L 2

B\')_’ \L\L\ C,Ubﬁgj

Y
§§ 15. Given S,, =636 & a, =9 find a,,

E Use a graph to solve each equation

16. —x+2=x" 17. 2(x-1)° -5=3|x-1|-3

Use a graph to solve each inequality

8. 5% +2x-3>0 19. 4 -7x-8<0  y—\nt - § € —|
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